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§1
1.1
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@

)

1.3
@
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1.4
@

)

1.5

-

ga

Fs

Fs

o ck
o ca
Ta

4.100 (m)

10.0  (kN/n?)
24.5  (kN/m)

30.00 (° )
19.0  (kN/m*)

0.577
0.0  (kN/m)
168.95 (KN/?)

1.50
1/6 B
1.50

30 (N/mm*)
10.00 (N/mm?*)
0.45 (N/mm*)

160 (N/mm*)

)

No.



§2
2.1

CLP  (H)4100x (B)2700
0.130

=

10KkN/m?

4.100

H=

B= 2.700

N
'f

No.



§3
3.1

3.1.1
@

2V 2 H e Qqu [0}
(kN) (kN) (m) Fs Fs (kN/ )
243.50 66.90 0.393 3.55 2.10 168.95 11.42 | 0.K.
0.450 1.50 1.50
INnnnm
e = 0.393
!
i
? 3
8 | s
2
—

No.



No.

3.1.2
@
ZV 2 H e Qqu [0}
(kN) (kN) (m) Fs Fs (kN/m? )
217.80 66.90 0.447 3.15 1.88 160.80 0.54 | 0.K.
0.450 1.50 1.50

160.80

0.54




3.2
3.2.1

3.2.2

No.

b (mm) 1000 1000
d (mm) 90 260
D19 - 7.5 D19 - 7.5
2
As () 2149 2149
X (mm) 50.5 101.2
6 6
” o ) 0.53 x 10 65.12 x 10
3 3
S ) 2.64 x 10 51.40 x 10
gc 0.29 5.69
(N/mm*) o ca 10.00 10.00
gs 3.4 133.9
(N/mm*) o sa 160 160
T 0.03 0.20
(N/mm*) T ca 0.45 0.45
b (mm) 1000 1000
d (mm) 260 90
D19 - 7.5 D19 - 7.5
2
As () 2149 2149
X (mm) 101.2 50.5
M o ) 65.12 x 10° 0.39 x 10°
3 3
S ) 18.29 x 10 7.51 x 10
gc 5.69 0.21
(N/mm*) o ca 10.00 10.00
gs 133.9 2.5
(N/mm*) o sa 160 160
T 0.07 0.08
(N/mm*) T ca 0.45 0.45




§4

4.1

4.1.1

D

4.2

1.000 m

2)

x y)

No.



4.2.1
@
1)
A X y A X Ay
(m) m @) | @ (m) (m) (m)
2.700x 4.100= 11.070 | 1.350 | 2.050 14.9445 22.6935
al- 0.170x 0.600= -0.102 | 0.215| 3.800 -0.0219 -0.3876
b|-1/2x 0.170x 3.200= -0.272 | 0.243 | 2.433 -0.0661 -0.6618
c|- 2.300x 3.800= -8.740 | 1.450 | 2.200 -12.6730 -19.2280
d|-1/2x 2.300x 0.170= -0.196 | 1.833 | 0.243 -0.3593 -0.0476
el - 0.100x 3.970= -0.397 | 2.650 | 2.115 -1.0521 -0.8397
1.363 0.7721 1.5288
al
Vo=3XA L= 1.363 x 1.000 = 1.363 (m*)
o
V =Vo yc= 1.363 x 24.5=33.39 (kN) e
2ZA X 0.7721
X s A 1.363 0.566 (m) ;
Ay 1.5288 &
y S A 1.363 1.122 (m)
2
1)
A X y A X Ay
(m) m @) | @m (m) (m) (m)
2.570x 3.970= 10.203 | 1.415| 2.115 14.4372 21.5793
a|-1/2x 0.170x 3.200= -0.272 | 0.187 | 1.367 -0.0509 -0.3718
b|- 0.170x 0.170= -0.029 | 0.215| 0.215 -0.0062 -0.0062
c|-1/2x 2.300x 0.170= -0.196 | 1.067 | 0.187 -0.2091 -0.0367
9.706 14.1710 21.1646
Vo=XA L= 9.706 x 1.000 = 9.706 (m*)
V. =Vo ys= 9.706 x 19.0 = 184.41 (kN)
2ZA X 14.1710
X = s A 9.706 1.460 (m)
b c
SAy 21.1646 A
y S A 9.706 2-181 (m)

No.



4.2.2
V =g b L=10.0x 2.570 x 1.000 = 25.70 (KN)
x =B -2 = 2700 - 230 1 415
2 2
4.2.3
W sin(w-¢)

cos(w-¢ -0 -a )

Pa (kN/m)

W (kN/m)

W ¢)

® ¢)

g ¢)

a ¢)
V =Pa sin(6 +a) L
H =Pa cos(® +a) L

Vo, H: (kN)
. )  L=1.000 (m)

— .
~

No.



No.

h =  4.100 (m)
P
a = 0.00 () 7gkg?m)
W = 115.88 (kN/m) [ 23.67] R
w = 60.00 )
5 = 0.00 () 50.0f
® = 30.00 (°)
25.01
% 4 = éo 70 80 90
w()
ba 115.88 x sin(60.00 - 30.00)
~ cos (60.00 - 30.00 - 0.00 - 0.00)
= 66.90 (KN/m)
NN
w Pa W
64.00 66.021 97.88
. 63.00 66.415 | 102.27
60.00 62.00 66.680 | 106.71
61.00 66.846 | 111.25
* 60.00 66.903 | 115.88
59.00 66.844 | 120.59
58.00 66.682 | 125.41
57.00 66.406 | 130.33
56.00 66.024 | 135.37
V = 66.90 x sin( 0.00 - 0.00) x 1.000 = 0.00 (kN)
H = 66.90 x cos( 0.00 - 0.00) x 1.000 =  66.90 (kN)
X = 2.700 (m)
y = ~ 4.100 = 1.367 (m)

3



No.

8§85
5.1
1)
>V tand +C B L
Fs = = S H Fsa
Fs
Fsa : Fsa = 1.50
>V (kN)
>H : (kN)
tand :
tand = 0.577
C C = 0.0 (kN/m*)
B B = 2.700 (m)
L ( ) L= 1.000 (m)
2)
2 Mr
Fs = s Vo Fsa
Fs :
> Mro: (kN m)
> Mo : (kN m)
Fsa : Fsa = 1.50
d e
g = ZMr-2M
- TV
B
e = > T d
>V (kN)
> Mr (kN m)
> Mo (kN m)
B B = 2.700 (m)
e
1
e 6 B

10



3

Qr,Q2 -
2 Mr :
2 Mo :

>V

o ® r

(KN/m?)
(N m)
(N m)
(kN)
B = 2.700 (m)
L =

B
S - d

2 sV
T3 gL
(o} >V 6 e
¢ B L CF g

2 sV
® T3e-0 L
1.000 (m)

(m

(m

)

No.

11



5.2
5.2.1

D

2)

No. 12

No v H X y Mr Mo
(kN) (kN) (m) (m) (kN m) (kN m)
1 33.39 0.566 | 1.122 18.90
2 184.41 1.460 | 2.181 269.24
3 25.70 1.415| 4.100 36.37
4 66.90 | 2.700 | 1.367 91.45
z 243.50 66.90 324.51 91.45
3
2
1 —4
U
Fs = >V p +c B L 243.50 x 0.577 + 0.0 x 2.700 x 1.000
B T H B 66.90
= 2.10 Fsa = 1.5
> Mr 324.51
Fs = s Mo 91.45 3.55 Fsa = 1.50
R
> Mr - X Mo 324.51 - 91.45
d = sV ) 243.50 = 0.957 (m)
R
e = 2 -d= 2.700 - 0.957 = 0.393 (m)
le] = 0.393 (m) 4%* B = 0.450 (m)



3)
sV 6 243.50 6
gi:BL(li Be):2.700x1.ooox(1i :
168.95 (kN/r?)
11.42 (KN/m®)
I
e = 0n393
.
| =

168.95

0.393
2.700

)

No.
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5.2.2

D

2)

No.

No v H X y Mr Mo
(k\) (k\) (m) (m) (KN_m) (KN_m)
1 33.39 0.566 | 1.122 18.90
2 184.41 1.460 | 2.181 269.24
3 66.90 | 2.700 | 1.367 91.45
z 217.80 66.90 288.14 91.45
2
KE——3
1
U
Fs = >V p +c B L _ 217.80 x 0.577 + 0.0 x 2.700 x 1.000
- ZH - 66.90
= 1.88 Fsa = 1.5
2 Mr 288.14
Fs = s Vo 91.45 3.15 Fsa = 1.50
R
2 Mr - Z Mo 288.14 - 91.45
d = sV ) 217.80 = 0.903 (m)
R
e = B -d= 2700 _ 0.903 = 0.447 (m)
2 2
1
le] = 0.447 (m) 5 B = 0.450 (m)

14



No.

3)

¢ _ ZV . 6e 217.80 , 6x 0447
e B L 5 )7 2700x 100 ¢ (L7 2.700 )
160.80 (kN/m*)
0.54 (KN/m)

0.54

160.80

15
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No.

§6

6.1

008°€

e L

09




No.

6.2
6.2.1
D
Pa
a =  3.04(C) g/
W o= 6.69 (kN/m) [ 4.14] B 3
W = 55.40 (°) ‘
& = 20.00 () 5 ol
@ = 30.00 ()
1.0]
0% 40 s 60 70 8 90 100
w(®)
ba - 6.69 x sin(55.40 - 30.00)
& 7 “cos (55.40 - 30.00 - 20.00 - 3.04)
= 2.87 (kN/m)
RO T
|, 55.40°
w Pa W
60.00 2.826 5.61
59.00 2.852 5.85
58.00 2.860 6.07
57.00 2.862 6.29
56.00 2.871 6.54
* 55.40 2.872 6.69
55.00 2.871 6.79
54.00 2.856 7.02
53.00 2.845 7.28
52.00 2.825 7.54
51.00 2.797 7.80

17



2) ;
a
a = 3.04 C) gkiy/my
W o= 121.46 (kN/m) [ 26.10] ]
w = 57.30 (°)
d = 20.00 °) s00 @00
@ = 30.00 )
25.0]
0% "4 S0 60 70 80 100
w()
Py = 121.46 x sin(57.30 - 30.00)
" cos (57.30 - 30.00 - 20.00 - 3.04)
= 55.86 (kN/m)
T T T T
w Pa W
62.00 54.784 | 102.12
57.30° 61.00 55.177 | 106.10
60.00 55.474 | 110.13
59.00 55.691 | 114.25
58.00 55.818 | 118.45
* 57.30 55.862 | 121.46
57.00 55.861 | 122.75
56.00 55.809 | 127.14
55.00 55.670 | 131.65
54.00 55.430 | 136.26
53.00 55.089 | 140.99
H =Pa cos(® +a) L
L ( ) L =1.000 (m)
Pa o a H y
(kN/m) (D) (D) (kN) (m)
2.87 | 20.00 3.04 2.64 | 0.200
55.86 | 20.00 3.04 51.40 | 1.267

18



6.3
6.3.1

6.3.2

6.4
@

H = 2.64 (kN)

H y=2.64 x 0.200

No.

= 0.53 (kN m)
H = 51.40 (kN)
H y=51.40 x 1.267
= 65.12 (kN m)
b = 1000 (mm) |ooooooo|J§>AL
d = 90 (mm)
As = D19 - 7.5 ! 1000 !
= 21.49 (cm’) = 2149 (mm*)
n = 15
n As 2 b d
= -1+ 1+ N AS
15 x 2149 2 x 1000 x 90
= 1+ /14
1000 15 x 2149
= 50.5 (mm)
M= 0.53 (kN m)
S = 2.64 (kN)
_ 2 M _ 2 x 0.53 x 10°
b x d- Ag, 1000 x 50.5 x ( 90 - 52'5 )
= 0.29 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
_ M _ 0.53 x 10°
- X - 50.5
As d - 3 2149 x (90 - 3 )
= 3.4 (N/mm?*) osa= 160 (N/mm*) 0.K.
_ S 2.64 x 10°
b od 1000 x 90
= 0.03 (N/mm*) Ta = 0.45 (N/mm*) 0.K.

19



No.

3]
3
b= 1000 (mm) ooooooo—N—
d = 260 (mm)
As = D19 - 7.5 1000
= 21.49 (cm’) = 2149 (mm*)
n = 15
n As 2 b d
X = b -1+ 1+ N AS
15 x 2149 2 x 1000 x 260
= X -1 + 1+
1000 15 x 2149
= 101.2 (mm)
M= 65.12 (kN m)
S = 51.40 (kN)
2 M 2 x 65.12 x 10°
oc= x 101.2
b x d - 3 1000 x 101.2 x ( 260 - 3' )
=  5.69 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
o = M B 65.12 x 10°
ps d - = 2149 x ( 260 - 032y
3 3
= 133.9 (N/mm*) osa= 160 (N/mm*) 0.K.
. - s 51.40 x 10°
b d = 1000 x 260

0.20 (N/mm*) Ta = 0.45 (N/mm*) 0.K.



§7

7.1

@

)
( )
2.400
A X
(m m ) (m A x (m)
2.400x 0.300= 0.720 1.200 0.8640
-1/2x 2.300x 0.170= -0.196 1.533 -0.3005
- 0.100x 0.170= -0.017 2.350 -0.0400
0.507 0.5235
A X 0.5235
X = s A = 0507 - 1.033 (m)
S =A yc L= 0.507 x 24.5 x 1.000 = 12.42 (kN)
M =S x = 12.42 x 1.033 = 12.83 (kN m)

a— b

No.

21



&)

A X
(m m ) (m A x ()
2.400x 3.970= 9.528 1.200 11.4336
a|-1/2x 2.300x 0.170= -0.196 0.767 -0.1503
9.332 11.2833
A X 11.2833
X = 5 A = 9332 - 1.209 (m)

S =A ys L= 9.332x 19.0 x 1.000 = 177.31 (kN)

M =S x = 177.31 x 1.209 = 214.37 (kN m)

)

10.00 (kN/n?)

o
1]

S =g b L= 10.00 x 2.400 x 1.000 = 24.00 (kN)

x
1]

1.200 (m)

M =S x= 24.00x 1.200= 28.80 (kN m)




©)
D

2)

Q:
Q2

Qs

168.95 (KN/n?)

11.42 (KN/m?)
G + (G- G) 44%3,: 11.42 + ( 168.95 -  11.42)x ;:jgg
151.45 (KN/m*)
@ +q) I L ( 151.45 + 11.42) x 2.400 x 1.000
2 - 2
195.44 (kN)
L 2 g +q _ 2.400 2 x 11.42 + 151.45
3 o + O -3 11.42 + 151.45
0.856 (i)
S x = 195.44 x 0.856 = 167.30 (kN m)

160.80 (KN/n?)
0.54 (kN/m*)

I,
O + (- Qz) B

142.99 (kN/?)

= 0.54 + ( 160.80 -

2.400

0-54% =200

(@ +q) I L ( 142.99 +  0.54) x 2.400 x 1.000
2 - 2
172.24 (kN)
I 2 g +q _ 2.400 2 x 0.54 + 142.99
3 o + O -3 0.54 + 142.99
0.803 (m)
S x = 172.24 x 0.803 = 138.31 (kN m)

No.

23



7.2

iy
No S M
(kN) (kN m)
1 12.42 12.83
2 177.31 214.37
3 -195.44 -167.30
4 24.00 28.80
18.29 88.70
Mo = 65.12 (kN m) M
M = Mo
2)
No S M
(kN) (kN m)
1 12.42 12.83
2 177.31 214.37
3 -172.24 -138.31
17.49 88.89
Mo = 65.12 (kN m) M
M = Mo

65.12 (kN m)




7.3

No.
3
b = 1000 (mm) ooooooo—N—
d = 260 (mm)
As = D19 - 7.5 1000
= 21.49 (cm’) = 2149 (mm*)
n = 15
n As 2 b d
b -1+ 1+ T As
15 x 2149 2 x 1000 x 260
= 1+ /1 +
1000 15 x 2149
101.2 (mm)
M= 65.12 (kN m)
S = 18.29 (kN)
2 M _ 2 x 65.12 x 10°
b x d- Ag, 1000 x 101.2 x (260 - 10;'2 )
5.69 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
M B 65.12 x 10°
ps d - = 2149 x ( 260 - 032y
3 3
133.9 (N/mm?*) osa= 160 (N/mm*) 0.K.
S 18.29 x 10°
b d =~ 1000 x 260
0.07 (N/mm*) Ta = 0.45 (N/mm*) 0.K.

25



§8

8.1

€))

O]

A=b

A=b

w
1]

h = 0.10

A yc L=

S x =

h = 0.10

A ys L=

S x =

0 x 0.130 =

0.013 x 24.5

0.32 x 0.050 =

0 x 3.970 =

0.397 x 19.0

7.54 x 0.050 =

0.013 (m)

x 1.000 =  0.32 (kN)
0.02 (kN m)

0.397 (m)

x 1.000 =  7.54 (kN)
0.38 (kN m)

No.

26



3

©)
D

Q:

Qs

10.00 (kN/m*)

g b L=

0.050 (m)

S x =

10.00 x

1.00 x

168.95 (KN/n?)
11.42 (kN/n?)

O + (- Qz)

17.25 (kN/m*)

0

0.100 x 1.000 =  1.00 (kN)
.050 = 0.05 (kN m)
. 0.100
= 1142 + ( 168.95 - 11.42)x

(@ +q) b L ( 17.25 + 11.42) x 0.100 x 1.000
2 - 2
1.43 (kN)
I 2 @ +q _ 0.100 2 x  11.42 + 17.25
3 o + O -3 11.42 + 17.25
0.047 (m)
S x = 1.43 x 0.047 =  0.07 (kN m)

No.

27



8.2

2)

D

2)

No.

o = 160.80 (KN/m*)
o =  0.54 (kN/m)
G =g + (G- G) 44%3,: 0.54 + ( 160.80 -  0.54)x g:;gg
= 6.48 (kN/m)
s (@ +q) L L ( 6.48+ 0.54) x 0.100 x 1.000
2 2
= 0.35 (kN)
y I. 2 g +g _ 0.100  2x 0.54 +  6.48
3 o + O T3 0.54 + 6.48
= 0.036 (m)
M = S x = 0.35x 0.036 = 0.01 (kN m)
No S M
(kN) kN m)
1 0.32 0.02
2 7.54 0.38
3 -1.43 -0.07
4 1.00 0.05
b3 7.43 0.38
No S M
(kN) kN m)
1 0.32 0.02
2 7.54 0.38
3 -0.35 -0.01
b3 7.51 0.39
S = 7.51 (kN)
Moo= 0.39 (kN m)

28



8.3

No.

| O 0 000 0O |44EgL

b = 1000 (mm)
d = 90 (mm) ‘ 1000 ‘
As = D19 - 7.5 \ \
= 21.49 (cm’) = 2149 (mm*)
n = 15
n As 2 b d
b -1+ 1+ T As
15 x 2149 2 x 1000 x 90
= 1+ /14
1000 15 x 2149
50.5 (mm)
M= 0.38 (kN m)
S = 7.51 (kN)
2 M _ 2 x 0.38 x 10°
b x d- Ag, 1000 x 50.5 x (90 - 52'5 )
0.21 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
M _ 0.38 x 10°
X - 50.5
As d - 3 2149 x (90 - 3 )
2.4 (N/mm*) osa= 160 (N/mm*) 0.K.
s 7.51 x 10°
b d 1000 x 90
0.08 (N/mm*) Ta = 0.45 (N/mm*) 0.K.

29



